T BMW S1000RR (15-)
Salo Kucing) FRAME SLIDERS

part# BMW-S115FS

SLIDER BASE M10 GOLD
[SDRBG-10]

SLIDER PUCK SET SCREW M6 x 6
[SDR-REV-M] [SSCW-M6]

COLLAR 30-10 (BK)

[CLR-30-10] SOCKET HEAD M10 x 100mm ( P-1.5)
[SBT-M10100-15]

[L] -

SPLIT WASHER M10
[SWS-10]

SPLIT WASHER M10

[SWS-10]
SLIDER BASE M10 GOLD SET SCREW M6 x6  SLIDER PUCK

[SDRBG-10] (SSCW-M6] [SDR-REV-M]
SOCKET HEAD M10 x 70mm ( P-1.5) . /
[SBT-M1070-15] | —
— [R]
—
-

satoracing.com



